Jio(x) = V % sin( x) (3.190)

S Jlip(x) =y ;25 cos(x) (3.191)
I5(x) = | == sinh(x) (3.192)
I_,5(x) = % cosh( x) © (3.193)
AxPZ, (Ax), Z=U1,Y,1I
?ix{[xpzp(hx)] o {_Mp (Ax), Z=K } (3.194)
A28, Z=0,7,K
%[xqup(’\x)] = { AXPZ, (Ax), Z =1 } (3.195)
d AZ, \(Ax) =2z, (Ax), Z=1y,1
= Z (Ax)]| = . )
[ Z,(Ax)] {_Azpl(“) ~Bz(ax), z-k (3.19)

By applying the recurrence relations, these can also ‘be written in the more
- useful form

dr, o [TAZphn) +5Z,(Ax), Z=1Y,K (3.197)
Z 2, (ax)] Az, (Ax) + 2z, (0x), z=1 .

A
Z,(Ax) = ﬁ[zpﬂ(u) +Z, (Ax)],  Z=JY (3.19%)

IL(Ax) = lzf‘ﬁ’i[fw(,\x) ~I,_(A%)] (3.19)

K (Ax) = %[Km(,\x) ~K,_\(Ax)] (3200
J_(Ax) = (—-1)"J (Ax) (3.201)
1_,(Ax) = I(Ax) (3.202)
K_n()lx) =K,(Ax) (3.203)
[Ax?1,_\(Ax) dx = x77 (Ax) (3.204)

and
[axea, ,(u) dx = x?I (Ax) (3.205)
/ xfk(ﬁ§)a’k(ﬁ§)£d§

’ (3208

= 757 [MeAx) I i(Bx) ~ I (Ax) I, (B1)]

and if A = B, this gives the useful result

f [1(26)]*¢ dg = 2x [R(Ax) = I (Ax) Ty (Ax)] (320



